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02 WUANEZ 12,000 0 12,000
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— g8 2B =GAY
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(= 1,0001]
[T 1,000]
— gAY AY 10,000,000 = 10,000
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OAFAIAE FHAN] 970
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OAFAAE AT uA 110,000 #40% = 4,400
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OFALEH EAAY] AFF9Y
15,000 %100 1,500
OAAH A8 400,000 2T #27] & 1,600
AGAE g4 41,280 69,916 A28,636
101 <171 H] 3,780 35,302 A31,522
10 7|HAE2ZAS BT 3,780 2,268 1,512
OFTALETH Jodg AR 3,780
—Z=AA 31,5009 48 %20 2,520
—HE 9 EH]Ax 31,5009 x4 10 1,260
201 Luk-g-<dH] 32,100 29,484 2,616
01 A ] 1,560 0 1,560
O ntp8-1] 1,560
—T A3 g A=
950800 ¢ 760
— 9 Bu) (LA E) 100,000 273 ¥23] 400
— =437 100,000 %27 %23 400
02 F3g9H 30,540 29,484 1,056
OFTFas % AA 19,920
—AFAAE A7 A7|HAE
600,000 %27} 2~ 1,200
—AHAAEE A7 F
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80,0009 #27) 2~ %12 1,920
OAGFANAE Atz B A8
3,000,000¢) 3,000
OAFA A FeAn &9 350,00091 %12 4,200
OAFANAEE 547 57U
95020 ¢ *27] A=90Y 3,420
202 oJH| 3,000 2,850 150
01 =ujon) 3,000 2,850 150
OAFASU 3 A&FFY o)
60,0009 10«5 3,000
301 dWrE A 2,400 2,280 120
10 AN B3+ 2,400 2,280 120
OEZZ=d 3] #7AF B
60,0009 #2078 x2<) 2,400
2,757,597 244,294 2,513,303
AHAd A
[= 330,000]
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=] J =N o] (5 H ALl « H A B A)- o Ade =7}
A -A4A -G FA) - AFAY - HAH o Akl o Ap ol H] 3 573
AS5AA An) [+ 2,427 ,597]
AGAE &5 L g 1,757,597 244,294 1,513,303
401 A v] L E- o] 1,757,597 238,294 1,519,303
03 EAwjgdH] 813,747 0 813,747
OT vdTgn 5452 md
68,1309 8,807 = 600,021
OFAH T4 2% 34414
30,0009 %1,457 " = 43,710
OF&d ASTd =444
38,6409 %4, 400 = 170,016
04 A4 938,000 238,294 699,706
OFgSTH AS3Y 24AH]
800,000,000 x12] = 800,000
OFAWN FH4E5 Au A}
90,000,000 %124 = 90,000
OHIH FHAEE5d Asd FA}
25,000,000 %12 = 25,000
OAGANAE FAERS D AFEFHA(ETF
R ) 5,000,000 %37} & = 15,000
OAFAAE 577 AAAFD (39, k2
ELZND) ,000,000 %270 A x4% = 8,000
06 Al H-tn| 5,850 0 5,850
Ogdudl ASTY =AY 5,040
— 71 e 800,000,000 %0.63/100 = 5,040
Ofdd sdesd 44 4444 810
— 7] e} H] 90,000,000 %0.9/100 = 810
1,000,000 0 1,000,000
T 5 A4 [= 330,000]
[ 670,000]
1,000,000 0 1,000,000
401 A]/d w5 g v [= 330,000]
[ 670,000]
02 AR AMN 28,855 0 28,855
O H) B 2AY 28,855
—3AEEY grdy AMY
965,065,000 %2.9899/100 = 28,855
04 A)Adn) 965,065 0 965,065
O H) B 2ALY 965,065
-3 grdy AMY
965,065,000 x12] = 965,065
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—3AEEd Yrdy A
65,065,000 %0.63/100 = 6,080
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[= 24,4601
[ 79,930]
dsy 34 =4 26,740 40,993 A14,253
2 AL =29 26,740 25,993 747
301 AHrHAF 26,740 25,993 747
10 AN RS 25,740 24,993 747
OAad AAus 37t B
60,0009 #20™8 2] = 2,400
OvFA LA X% HA
6,00091,800™ = 10,800
OHA2AAELY ©5ag s 27 B
60,0009 %207 = 1,200
OESH4d AdAg 537 BA
60,0009 15 %3 = 2,700
Or¥AALd Txed F7F v
60,0009 78 *5 = 2,100
OA2d Fd8F 27t v
60,0009 «5 5 = 1,500
OFEEAUTACEsHA) A8 125 3
A2} ) 60,000 =4 = 240
OA 2 w3 271 vy
60,0009 407 = 2,400
O5¥ HardogddAL 27t 1A
60,0009 #40™ = 2,400
12 7|ElR A= 1,000 1,000
OA2d e84 ANuxd=
100,000 %108] = 1,000
89,700 92,500 22,800
[7] 12,000]
d dEd 9
(= 24.,460]
[T 53,240]
29 AEA 9 A2 40,500 82,500 A42,000
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[ 21,300]
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OXH B =AY 21,800
—FABEAE G G FEE A%
1,300,000 %14] = 1,300
(= 400]
[+ 900]
—AaddEded 20,500
o]yl 8-H] 12,000,000¢) = 12,000
(= 2,400]
[+ 9,600]
- o] g 7 Ak 1,500,0009) = 1,500
(= 300]
s 1,200]
- TR EA % 5,000,0009 = 5,000
(= 1,000]
[ 4,000]
AT 2,000,0009) = 2,000
[= 400]
[+ 1,600]
02 TT+9H 5,000 0 5,000
OEH B ZAMY] 5,000
—FF8a 2 A 5,000,0009) = 5,000
(= 1,000]
[+ 4,000]
8,500 8,500 0
202 o] [= 1,700]
[ 6,800]
01 el 8,500 8,500
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10 AR H] B 1,200 1,200
OXH B ZAFY] 1,200
—HAdA L AxEgE| 1,200,0009) = 1,200
(= 3601
[+ 8401
4,000 4,000 0
405 ApAHF 5 H) [= 800]
[+ 3,200]
01 AL EFFHSH 4,000 4,000
OEH B 2AY 4,000
—A2ddEd A 9 EEFH S
4,000,0009) = 4,000
(= 8001
[+ 3,200]
49,200 10,000 39,200
[7] 12,000]
Aadddd A 2 28 $9Ad
(= 16,100]
[ 21,100]
21,000 0 21,000
101 $171H] [7] 10,5001
[= 10,500]
10 7IHAEZAS S 21,000 0 21,000
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—Aad eWAZE Y &9
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(= 5,600]
[ 21,100]
AL G H] 28,200 10,000 18,200
LR R ZAY 18,000
—A2dN HALA] L H]
11,000,000¢1 11,000
(= 2,2001]
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—H2AdEAE 229
7,000,000¢ = 7,000
(= 1,400]
[ 5,600]
OEH R ALY (F 3,000
—HrPAAE F RS 3,000,0009) = 3,000
(= 2,000]
[ 1,000]
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— Al %4 4,200
L] 60,0009 %103 = 1,800
34 g 40,0009) 307 #23] = 2,400
—Aad AHX 3,000,0009) = 3,000
[7] 1,500]
[+ 1,500]
170,361 92,490 77,871
73 n) (&334 [= 6,8001]
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90,161 7,200 82,961
3 [= 6,800]
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203 Y F-F%1H| 4,200 7,200 A3,000
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G u (FE ) 17,321 17,321
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09 F-7]A 2 AR S 17,321 17,321
OH3EAl 17,321
=715 32,100 #1+300 = 9,630
=l 9,630,000 %4/12 = 3,210
— & 9,630,000 %10/100 = 963
— 2T 3,518
R Ry
5,216 19 x15A] 7F+12¢ = 939
CFdre 32,1009 #1966 +5/100 = 106
FHTG 32,1000+ 1 #52 = 1,670
A 32,1009 #1259 = 803
A F(FHELFT) 34,640 34,640
101 Q17H] 34,640 34,640
09 F-7)AFE2 AR S 34,640 34,640
OdHdEsd F71A =R} 34,640
7B 32,1009 #29*300Y = 19,260
—doAs 19,260,0009) 4/12 = 6,420
— &7 19,260,000 %10/100 = 1,926
— 25T 7,034
Al kel
5,216 27 15| 7F«12Y = 1,878
CFETT 32,1009 %25 66 +5/100 = 212
FHTG 32,1002 %52 = 3,339
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AH G (Fad dEdd) [ 6,800]
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OEH B ZAFY] 34,000

—3ad dgd 34,000

o] 21,500,000¢) = 21,500

(= 4,300]

[+ 17,200]

dols 9,500,000¢ = 9,500

[= 1,900]

[ 7,600]

71 e 3,000,000¢) = 3,000

(= 600]

[+ 2,400]
73] 80,200 85,290 A5,090
713273 v 80,200 85,290 A5,090
201 AWk g H] 51,400 51,480 A80
01 A H] 51,400 51,480 A80

OF-A% 48.,000,0009) = 48,000

Ox%H] 1,600

— 5l H] 5,000 %169 %209 = 1,600

OFLEHT/ALY] 150,000 *12¢Y = 1,800
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